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4.
4.1 A G
4.1.1
ds —d—qzo (3.107)
T
[ ] [ ]
( =0 ) ( =0 )
dU =dq (4.1a) dH =dq (4.19)
ds —dTUzO (4.2a) ds —dTHzo (4.29)
(TdS —dU >0) (TdS —dH >0)
A : ,G
A=U -TS (4.32) G=H-TS (4.30)
dA=dU -TdS dG =dH -TdS
dAry <0 (4.4a) dGy , <0 (4.49)
mv ) Mp )
A , G ,
dAry =0 (4.5a) dG; , =0 (4.59)
[ ]
L) dq —
(3.10Y) —?zdsex— — dS +dS,, =dS;, 20
(UorH) ?
—> O
cf.) dS>0 (3.11)
4.1.2
[ ]
(2.2) (4.6)
dU =dqg + dw (4.6a) dH =dq + dw + pdV (4.69)
TdS >dq 4.7 TdS >dq 4.7
dU —TdS <dw (4.82) dH —TdS <dw + pdV (4.80)
dA=dU -TdS dG =dH -TdS
dA < dw (4.92) dG < dw+ pdV =dw, (4.99)
_)AA:WmaX( ) _)AG:Wemax( )
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2004 4-2

4.1
, Ha(9) + 0.5 02(g) > H0(l), 298 K, 1 bar
, , AU, = -282.1 kJ mol™,

AH,, = -285.8 kJ mol™, AS,, = -163.3 J K mol™
a) , b) , C)

4.1.3

[

[

[

AH?]
(1 bar = 10° Pa)
eX.) HZO(S) —> HgO(l) Afu5H°273_15 =6.0 kJ mOl_:L
AH?]
(1 bar) 1 mol
ex.) Ha(g) + 0.5 0,(g) > H,O0() AH° =-285.8 kJ mol™
* 1 2 Hy(g) + 0x(g) > 2 HO(I) AH°® =-571.6 k mol™

cf.)
( )
ex.) HCl - 1H,+ $Cl, AH3815 = 92.3 kI mol™
%HZ —->H ArHozgg.ls =218.0kJ mOI_l
%Clg — ClI ArHozgg_ls =121.3 kJ mOl_:L
HCl — H + ClI AHC 0815 = 431.6 kJ mol™
[ AH?]
( : (1 bar) )
[ ]
ex)HCl > H+Cl ... AHg515 = AfH20515(H) + AfH295.15(Cl) — AtH® 205 15(HCI)
=218.0 + 121.3 <(-92.3) = 431.6 k) mol™
Smo]
(3.2.2 ; S(0K) =0)
AG?]
AG°=AH°-TA,S®
[ AG?]
( )
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4.2
4.2.1
[ ]
dU =dg+dw (
dU =TdS — pdV
[ ]
(ﬂj =—(@j (4.11a)
v ) \es ),
[@J :(ﬁj (4.11¢)
aT ), \av J;
[ ]
u S V
du =[@) ds +(@j dv
a5 ), NV s
(4.10)
(ﬂj T (4.13a)
a5 ),
4.2.2
H=U+pV( ;211)—>dH=dU+pdV +Vdp
- ( £ 4.10
dH =TdS +Vdp
G=H-TS( ;43g9) > dG=dH-TdS-SdT
S>( ;414
dG =Vdp — SdT
G p T dG :(
(QJ =V (4.16a)
P )t
[ (
H, G (2.11, 4.3) G-H_
T
dem] _m
a ], T2

[
(0G/op); =V (4.16a)

) dH = TdS —peV + pe + Vdp

) dG ="FdS + Vdp —FdS - SdT
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(4.16b)
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2004 4-3

;2.2) «— dw, =—pdV, dg,, =TdS

(4.10)
av)
[V (4.11b)
JS [as ;
—j =—[§J (4.11d)
ot ), " @),
(4.12)
j - (4.13b)
S
(4.14)
(4.15)
(4.15)
-5 (4.16b)
=,
ST
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2004
G(pr)-G(p;)= [ " vdp (4.18)
G(ps)-G(pi)=V(ps — pi) ( )
e<pf>—e<pi>=nmm[%j< )
4.2
3 bar
a) ( , Vin = 18.0 cm®)
b) ( )
423
n [mol]
,u=(aa—(; (4.19)
;

4-4
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